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103352000900779 |[SIFE |[HFRIZZH0 070100 %= <B8%l [390 [90.2 [81.66
103352000922800 |{A#El2  |BFRIF S0 070100 |3= B4 (379 [86.2 [78.92
103352000930107 |F&E7 |EFRIFSFE: 070100 |[#% £H4%] [368 [88.6 [78.1
103352000918725 [ABGINE  |EEFRIZF= b 070100 |[#% 2H4%] [384 [79.6 [77.64
103352000925652 [5KBHEE  |ENFRIZZ R 070100 |[#% 2H4%] [376 [82.2 [77.3
103352000915319 |[EEEFE |BFRIZS 0= 070100 | £H%] (355 |91 77
103352000919844 |&iRtE |BFRIFS 0= 070100 |3= £H4] [370 [82.6 [76.58
103352000928812 [BFEEM  |EFRIFZF0R 070100 |[#% £H4%] [359 [87.6 [76.54
103352000900853 |EZEfR |EFRIF S 070100 |[#% 2H4%] [356 [81.8 [74.38
103352000912486 |FEJBER |[HFRIFSI= 070100 |3= B4 [347 [85.8 |[74.32
103352000913342 |Z=8htE  |[BFRIFS s 070100 |3= B4 (349 [83.6 [73.94
103352000900831 |@nEEX |[BFRIFS s 070100 |3= B4 (345 [84.8 |[73.74
103352000922801 |ERIH [HFRIFSIx 070100 |%#= B4 (350 [77.8 |[72.34
103352000900833 |Ri&E HFRIFF0R 070100 |[#% 2H4%] [344 [80.2 [72.22
103352000903000 [B%GAE  |EFRIZZ M 070100 |[#% £H4%] [357 [73 71.88
103352000900790 [{F—f& |EFRIFZFk: 070100 %= <=B84%l [353 [69.8 [70.36
103352000918726 [;#181E  |EFRIZZ M 070100 |[#% £H4%) [389 [93.8 [82.6
103352000900851 [T XK HFRIFF0R 070100 |#= £H% [396 [89.4 [82.26
103352000929022 |74 Rl ir 070100 |3= £H4%| (386 [83.2 |79
103352000900794 |7%E Rl ps 070100 |3= £H4%] (360 [92.4 [78.12
103352000923625 |#EER  |EFRIF SR 070100 |#= £H%  |377 [84.2 [78.04
103352000923628 |[5kFl&E |#ERIFZFx 070100 |E= B4 (367 [81.4 [75.8
103352000921967 |3KERE |EFRIF SR 070100 |[#% 2H4%] [359 [82.2 [74.92
103352000921965 |/KZ HFRIFF0R 070100 %= <=B84%l [354 [80.6 [73.74
103352000900845 |HB, |EFRIZFFR 070100 |[#% £H4%] [351 [81.8 [73.68
103352000914674 |5 Rl bs 070100 |3= B4 (361 (744 [72.86
103352000912872 [WkToiE  |ENFRIZZ R 070100 |[#% 2H4%] [347 [79.6 [72.46
103352000926185 |kIIE  |[EFRIZZH 0 070100 %= <B84%l [362 [704 [71.8
103352000900819 |Fi2 RIS R 070100 |3 B4 (391 [83.4 [79.76
103352000900823 |EEE |[HFRIFS= 070100 |3= B4 [342 [85.4 [73.5
103352000928757 |Z=XFk |[BFRIF S 070100 |3= £H4%| (353 |80 73.42
103352000919221 |&7= |HERFSbk 070100 | £H%  [359 (734 [72.28
103352000900825 |[FHrE |EEFRIZZ 070100 |[#% £H4%] [333 [79.6 [70.5
103352000900827 |FXW, |HERFSbx 070100 | £H% |348 [958 |77.46
103352000926186 [FREN  |EEFRIZZ b 070100 |[#% £H4%] [382 [77.8 [76.82
103352000915845 [ZREHIS  |EFRIZZ R 070100 |[#% £H4%] [342 [93.4 [75.9




103352000923408 |B==HA *Sz%ﬂ%é%éﬂm 070100 (= <B8%] (362 [82.4 [75.4
103352000928475 |F=F |HFRIFF 070100 (= 8% [370 [77.2 [74.96
103352000926982 [?7NFR [EFRIZS 070100 %= <£H8%) [354 [82.4 [74.28
103352000921824 |Z4% *Sz%ﬂ%é%éﬂm 070100 (= <£H8%) [353 [82.8 [74.26
103352000923275 |i5fE HFRIFS 070100 (= £H%l  |351 [814 [73.56
103352000900792 |t  [EERISS 070100 |E= £H84%) (353 [79.4 [73.24
103352000928277 |B&/\EE *Sz%ﬂ%é%éﬂm 070100 | <HB4%] (341 [77.4 [70.96
103352000912484 |FEBIS |HFRIFF 070100 | c<H4%l (356 |86 72.84
103352000924202 |fFEElIE |[EERISS 070100 |&= £H%] (340 |78.4 |71.12




